


© x-323

@ 3x<9

® -2x>6

©® -2x+3>-3

® 0,6 ® 0,

ORON®)

® 0,6,

@ 0,00



® y=5x+10

@ y=-5x-10

O y=2x+10

-5x + 10

@y

@ y=>5x-10



@ @
4x+y=0
x—-y=3

® Y @
-2x+2y=-6
2x + 6y = -8

3x—-5y=38
3x + 5y = -2
—x+2y=-2
4x -8y =4



2 3 A7 Ad 2 A7 o] Gr2
ZF29] 22 1900 Yolt}, E 3t

p i

@® 100 ¥

@ 150 ¢
@ 250 ¥

® 300 ¥

1200 Yo]a1, E

Hl 2 2LF9t Ad 5
2L29] 3F29

3 200 ¥



o H7]9] dapghas 5 0 v 0 BF 912 sk Ao A4E
a7ll, M2 A2 EE AvtE Ao A€ p7H=tL & W, a + b o] 727

]
@ y=3x © y=-3x

© y=3x+1 @yz%x+3
@y:—%x—i—?) ® y=-4x-3
® y— 2516 © y=jgr-1

@ 7 @ 8 @9 @ 10 ® 11






8.

ATy = 2ax +3 S y 2
y=-2x+b7} 2 W, ab 9] 327

® -1 @ -3 ® 2

Kl

Fozg -5



LAY A 2x —ay = 10 o] 7L 5 A (-1, 4), (b, 6b) & A&



ax+ 6y =14
—4x+3y=>
27
@7

2 E90dy a7} (2.6) 7} it o]

® 9 @ 12 ® 13



7t x=a, y=b L W, 2a—-3b =38

S

-2 9/]

o<t



9 ] 9
“x3+5 <-%+3£ﬂaﬁ7}3(§+1> > Bx—2

of st 22 ), a9 ghe Fohw?

12, xof gt 754 2 -

33

21 22 23 31
©-> o-= o0-= o-- o-T



13.

3]72+= 20000 ¥ 7HA] AL Yol A mFEE ZH=T] 2000 ¥ Sh= x| et
3000 € o= AAIA]E AP AL 5FaL, Yol A atEZRR] o] SFEAH] =
2000 ¥oltt. A= FA|= shgt AR U 2= AAIR]E AL
gttt 22 = S HE A o S HE O = PAE o @ o,
SIA7F AHA B 2412 FH o A= 2 7RI

@ 5 74 @ 77 ® 107 @ 12 74 ® 14 7



14.

MigFe 1A
°

o] 900%%}10]1’ E_ﬂ/\]If_— 7]—]& 2km77}7\]% f7°
1900 Y o], o]

ST2E=200mT 100 YA eHgtcka shot WAL
EAIZE 22 A8 mEpittal @ off, v o] & o] 5T off, HAE
El= ZET YA E B Zlo] et A2 2 km GolH 7R
Q1717

i}

A

® 5km A5t ® 5.4km v|gt ® 4.2km ©]5}

@ 4.2km o]t ® 5.2km v]gt

—



AR dx - 3y - 12 = 0 9] L L5 A vehd 2127

) )

~3 O| =« (@) 3\ 7




